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QUESTION 1

An administrator wants to enable encryption on an existing vSAN cluster that already contains virtual machines.
Which additional step should the administrator take to ensure no data is lost during the encryption process?

A. Select ‘Erase disks before use’ check box when enabling encryption on a vSAN cluster.

B. Make vCenter Server trust the KMS, either by trusting the KMS or by uploading a KMS certificate.

C. Ensure that the vSAN Encryption is enabled by default on the existing cluster to encrypt old and new data.
D. Disable vSphere Distributed Resources Schedule (DRS) on the vSAN cluster.

Correct Answer: A

Reference: https://core.vmware.com/resource/vsan-data-rest-encryption#sec7014-sub2

QUESTION 2

A 30-minute power maintenance window has been approved on Sunday. Due to a delay, the maintenance took 20
minutes longer to finish.

During this time, the vSAN administrator noticed that one of the clusters nodes was affected by a power shortage, as it
was connected to an affected power source. The default vSAN storage policy has been applied.

What will be the status of the vSAN objects on the affected host immediately after it is recovered?
A. The cluster will be partitioned and the vSAN host will need to be rejoined.

B. A rebuild of the affected objects will occur.

C. All objects will remain accessible.

D. All objects on the affected host will be lost.

Correct Answer: B

QUESTION 3

During a planning session for new vSAN clusters in multiple data centers, the customer relayed the following
information:

Highest possible mitigation during a host failure in terms of capacity. A constraint in this year\\'s IT budget.
What should the architect recommend?

A. Enable operations reserve. A minimum cluster of 3 vSAN nodes.

Latest 5V0-21.21 Dumps | 5V0-21.21 PDF Dumps | 5V0-21.21 Braindumps 2/4


https://www.leads4pass.com/5v0-21-21.html
https://www.leads4pass.com/5v0-21-21.html
https://www.leads4pass.com/5v0-21-21.html

https://lwww.leads4pass.com/5v0-21-21.html
2024 Latest leads4pass 5V0-21.21 PDF and VCE dumps Download

B. Enable host build reserve. A minimum cluster of 4 vSAN nodes.
C. Enable performance services. A minimum cluster of 6 vSAN nodes.
D. Enable IOInsight Metrics. A minimum cluster of 2 vSAN ROBO nodes.

Correct Answer: B

QUESTION 4

An 8-Node vSAN Stretched Cluster (4+4+1) with a single disk group has a policy with PFTT=1 (mirrored
across sites) and SFTT=1/FTM Mirroring (Local Protection) configured.

The administrator has been alerted that there is a problem with the cluster. The following has been
observed:

The vSAN Witness Host is offline.

Two disk failures on two hosts have occurred in the preferred site.

This has resulted in a critical production virtual machine\\'s vmdk becoming inaccessible.

Which step needs to be performed by the administrator to resolve the issue?

A. Replace all failed disks on the preferred site.

B. Replace the vSAN Witness Host

C. Replace access to the existing vSAN Witness Host

D. Replace only one failed disk on the preferred site.

Correct Answer: C

QUESTION 5

An administrator is tasked to create a custom storage policy for workloads and is including additional disk stripes while
defining the storage policy.

What is the main purpose of this practice?
A. To increase available storage space
B. To set a failure tolerance

C. To improve performance
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D. To reconstruct corrupted data

Correct Answer: B
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